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CC Math 1A Warm Up #3

On the first day of school, I surveyed the class on the average
tirne it took them to get to school.
Here are some of the results (in minutes):

B, 15, 20, 15, 10, 15, 15,20, 10,5, 7, 3,7, 32

3. Create a histogram representing the data.

. | e Average Titve To GetTo
1. Create a frequency table using INTERVALS for the
data.
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2. Create a dot plot representing the data. _ 4. Write a paragraph explaining the data distribution. Use
the FOUR characteristics of data distribution: shape,
. center, m.mammwhr outliers.
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UNIT 7 » WORIHE WITH DATA |
Day 53

Histograms on'the Calculator |

Create a histogram for each set of data below using your calculaior. Draw the histogram (from your
calculator screen). Then describe the shape, center, and spread of your histogram,

1. Officer Phit pulls off to the side of the highway, and decides to clock the speeds of drivers as they
pass by. He records the speeds of 20 cars that go by him, which are (in miles per hour):

65, 58, 70, 72, 62, 55, 57, 74, 70, 68, 63, 65, 71, 69, 66, 67, 58, 77, 70, 65

Draw your histogram (from your calculator screen) befow:

Describe the shape:

Describe the interval that contains the center:

Describe the spread:

2. Lightning Larry is a wide receiver for his football team. Last game, he caught 15 passes! Here is the
data for how long each reception was (in yards):

8,6,15,19,4,9,11,7,10,18,3,9,16,2, 6

Draw your histogram (from your calculator screen) below:

Describe the shape:

Describe the interval that contains the center:

Describe the spread:
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